













$$Very convenient!$$

$$P(Y = 0 | X = \langle X_1, ..., X_n \rangle) = \frac{1}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$P(Y = 1 | X = \langle X_1, ..., X_n \rangle) = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle) = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies
$$V = 1 | X = \langle X_1, ..., X_n \rangle = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$





• Discriminative (logistic regression) loss function:  
Conditional Data Likelihood  
• Have a bunch of iid data of the form: 
$$(x^i, y^i)_{I:N} \in D \in (D_X, D_Y)$$
  
• Discriminative (logistic regression) loss function:  
Conditional Data Likelihood  
or grave  $P(D_Y | D_X) \equiv grave \int_{i=1}^{N} P(y^i | x^i) \equiv ergrave \ln \prod_{i=1}^{N} P(y^i | x^i)$   
 $\equiv argrave \sum_{j=1}^{N} \ln P(y^j | x^j, w) \int_{m=X_i}^{\infty} g_{m}^{\alpha A} dx$   
 $\ln P(D_Y | D_X, w) = \sum_{j=1}^{N} \ln P(y^j | x^j, w) \int_{m=X_i}^{\infty} g_{m}^{\alpha A} dx$ 

$$\begin{aligned} \sum_{i=1}^{j} \sum_$$





Maximize Conditional Log Likelihood:  

$$= \frac{f'(x)}{f(x)} \quad \text{Gradient ascent} \quad \frac{\int_{Q} e^{f(x)}}{\int_{X} e^{f(x)}} = f(x) e^{f(x)}$$

$$l(w) = \sum_{j} y^{j}(w_{0} + \sum_{i}^{n} w_{i}x_{i}^{j}) - \ln(1 + exp(w_{0} + \sum_{i}^{n} w_{i}x_{i}^{j}))$$

$$\int_{W_{i}} \frac{f(w)}{y_{i}} = \sum_{j} y^{j} \chi_{i}^{j}, \quad - \prod_{i} \frac{f_{i}}{y_{i}} e^{w_{i} + \sum_{i}^{n} w_{i}x_{i}^{j}}$$

$$\int_{W_{i}} \frac{f(w)}{y_{i}} = \sum_{j} y^{j} \chi_{i}^{j}, \quad - \prod_{i} \frac{f_{i}}{y_{i}} e^{w_{i} + \sum_{i}^{n} w_{i}x_{i}^{j}}$$

$$\int_{W_{i}} \frac{f(w)}{y_{i}} = \sum_{j} \chi_{i}^{j} \left( y^{j} - P(Y = 1) \chi_{i}^{j} \chi_{i} \right)$$

$$\int_{W_{i}} \frac{f(w)}{y_{i}} = \sum_{j} \chi_{i}^{j} \left( y^{j} - P(Y = 1) \chi_{i}^{j} \chi_{i} \right)$$

$$\int_{W_{i}} \frac{f(w)}{y_{i}} = \sum_{j} \chi_{i}^{j} \left( y^{j} - P(Y = 1) \chi_{i}^{j} \chi_{i} \right)$$

$$\int_{W_{i}} \frac{f(w)}{y_{i}} = \sum_{j} \chi_{i}^{j} \left( y^{j} - P(Y = 1) \chi_{i}^{j} \chi_{i} \right)$$

$$\int_{W_{i}} \frac{f(w)}{y_{i}} = \sum_{j} \chi_{i}^{j} \left( y^{j} - P(Y = 1) \chi_{i}^{j} \chi_{i} \right)$$

$$\int_{W_{i}} \frac{f(w)}{y_{i}} = \sum_{j} \chi_{i}^{j} \left( y^{j} - P(Y = 1) \chi_{i}^{j} \chi_{i} \right)$$

$$\int_{W_{i}} \frac{f(w)}{y_{i}} = \sum_{j} \chi_{i}^{j} \left( y^{j} - P(Y = 1) \chi_{i}^{j} \chi_{i} \right)$$

$$\int_{W_{i}} \frac{f(w)}{y_{i}} = \sum_{j} \chi_{i}^{j} \left( y^{j} - P(Y = 1) \chi_{i}^{j} \chi_{i} \right)$$

$$\int_{W_{i}} \frac{f(w)}{y_{i}} = \sum_{j} \chi_{i}^{j} \left( y^{j} - P(Y = 1) \chi_{i}^{j} \chi_{i} \right)$$



